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Master of Arts (Economics) 3™ Semester

| (2122) |
Opt. (v) ECONOMETRICS—I
Paper : MAECO-303 & 304 (In all Mediums) -

Time Allowed : Three Hours]  [Maximum Marks : 80

Note. :— Attempt any TEN out of FIFTEEN questions of 2 marks
each from first cofnpulsory question. From each Unit
attempt any ONE out of the TWO questions of
15 marks each. Use of non-scientific and non- -
programmable simple calculator is allowed.

1. Attempt any TEN-out of the following FIFTEEN :

'(a) Do you think scope of econometerics is limited to 'tést o
the economic hypotheses only ?

(b) How the probability theory is associated with regression
modeling ? |

(c) Why the normality of residual is ap occasional reality
“but a common assumption in regression ?

(d) What do you mean by consistenc

Y of a regression
estimator ?
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(¢) Why a likelihood function 1S 10 be maximized not to be

minimized ?

(D Explain the use of the coefficient of multiple determinant

in any regression model €stimation.
(2) What is the level of significance ?

(h) Comment upon the state of significance of a regression

estimate 0.38 with confidence interval —0.85 to 0.99.

(i) Differentiate the terms standard deviation and standard

eITOr.
(j) Discuss BP test of heteroscedasticity.

(k) For a trivariate model having Y as dependent and
X, and X, as independent variables explain the meaning .

of X X' X matrix being a singular matrix.

(1) What do you think is a main disadvantage of using OLS
in estimation of the parameters of a non-linear regression
model ?-

(m) Why reliable software are needed in econometrics ?

(n) Name any two open -source packages avallable for
econometric analyses. '

(o) leferentlate the un-standardlzed and standardized

coefficients available in regressmn output of SPSS.
2x10=20

2674/PR-21057(T) - 2



2674/PR-21057(T) -~ . 3

UNIT—I
For a regression model Y = XB + U, obtain the variance:-
covariance matrix of parameters in case X'X = [xij]2 ., an
X'y = [x;], . ,- Also.show that estimator of B is efficient
among the class of all other linear and unbiased estimators.

5+10 15
Elaborate the use of the following in regress1on esumatlon :
(a) t/z-test | |
(b) ANOVA. 2 84715
UNIT—II | |

Explain the FGLS as a so-lution to the problem of
Heteroscedastlclty How the use. of FGLS effects the

- interpretation of regression coefﬁments 2 . 10+5=15

What should be the possible solutions in case the regressmn

model contains k (a large number) 1ndependent variables and - |

many of the variables are high 81gn1ﬁcant correlation among

them ? | | | B 15.
UNIT—III

Show that the droppﬁi'ng of a significant variable because of

multlcolhneanty shall cause specification bias in regressmn

estimation. Does thls bias affect the efﬁc:lency of regression

parameters ? : , 10+5=15
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7 What do you mean by correct SpeCiﬁcation of mOde' and

what are various tests of correct model specification ?

(i.e. experience), Level of education

%
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UNIT—IV
8. The following output is given on an econometric model
estimation :
Model Summary
Model | R R Square Adjusted R | Std. Error of the
Square Estimate
] 5062 | .256 256 67.89885
a. Predictors : (Constant), Marital status, Years with current employer
(i.e. experienée),_Level of education
ANOVA*
Madel Sum of | df Mean F Sig.
Squares ‘Square
Regression| 10164942.129 | 3 3388314.043|734.952 | .000°
1 Residual 29487179.821 | 6396| 4610.253
Total 39652121.950 | 6399
a.  Dependent Variable : Household income in thousands
‘b. Predictors : (Constant), Marital status, Years with Furrent employer .




Cocefficients®

Model Krmﬂuml m'":“‘l"”“ » ..‘;.';l-nllllzuhlin‘w‘lh "l"""' ‘ml;-
Coeflicients Coellicients
. B Std. Error Beta

(Constant) -63.531] 3.352 ~18.954] 000
Level of
cducation 13.276 | .724 202 18.332 | .000

1
Years with
current employer | 50.519 | 1.096 508 46.095 | .000
Marital status 1.507 | 1.698 010 888 375

a.  Dependent Variable : Household income in thousands
Identify the variables and write the regression line. Also
interpret results in all of the above tables. 15

9. Discuss the process to estimate a regression and detect

multicollinearity using any software of your preference.
| | 15
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Model Summary

Model | R R Square | Adjusted R | Std. Error of the
| Square ’ Estimate
1 506 | .256 256 67.89885

a. iasgaer - cﬁm)%‘mf%a:ﬁqﬁf aﬁm?ﬁiﬁw%muatf(aafa
I YE), ﬁrwmwn Al

ANOVA”
Model ‘Sum of | df '. Mean F Sig.
| Squares Squére |
Regression | 10164942.129 | 3 33383’14.043 734.952 | .000®
1 Residual |. 29487179.821 6396 | 4610.253
Total - | 39652121.950 | 6399
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Cocfficients?

B

| Mmhl Unstandardized Standardized t Sig.
Cocfficients Cocfficients
B Std. Error Beta
(Constant) ~03.531| 3.352 -18.954| .000

Level of
c¢ducation 13.276 | .724 202« A 18.332 | .000
Years with

current cmployer| 50.519 | 1.096 - .508 46.095 | .000(

Marital status 1.507 | 1.698 010 888 375
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R Square

Adjusted R

Std. Error of the

Square Estimate
1 506 | .256 256 67.89885
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ANOVA®*
Model Sum of df Mean F Sig.‘
Sqﬁares | Square
Regression 1016494‘2:129 3 3388314.043 | 734.952 | .000"
1 Residual 29437'179.821' 6396 | 4610.253
Total 39652121.950 6399
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Model Unstandardized | Standardized | 1t Sig

CocfTicients CoefTicients

B Std. Error Beta

(Constant) -63.531} 3352 -18.954] .000

Level of
cducation 13.276 | .724 202 18332 | 000

Years with

current employer | S0.519 | 1.096 508 - 46.095 | .000

Marital status 1.307 | 1.698 010 888 375
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